
https://www.pass2lead.com/102-400.html
2024 Latest pass2lead 102-400 PDF and VCE dumps Download

 

 

 

102-400Q&As

LPI Level 1 Exam 102, Junior Level Linux Certification,Part 2 of 2

Pass Lpi 102-400 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/102-400.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Lpi Official
Exam Center

 

 

102-400 VCE Dumps | 102-400 Practice Test | 102-400 Braindumps                                1 / 3

https://www.pass2lead.com/102-400.html
https://www.pass2lead.com/102-400.html
https://www.pass2lead.com/102-400.html


https://www.pass2lead.com/102-400.html
2024 Latest pass2lead 102-400 PDF and VCE dumps Download

QUESTION 1

What entry can be added to the syslog.conf file to have all syslog messages generated by a system displayed on
console 12? 

A. *.* /dev/tty12 

B. /var/log/messages | /dev/tty12 

C. | /dev/tty12 

D. syslog tty12 

E. mail.* /dev/tty12 

Correct Answer: A 

 

QUESTION 2

Which of the following commands puts the output of the command date into the shell variable mydate? 

A. mydate="$(date)" 

B. mydate="exec date" 

C. mydate="$((date))" 

D. mydate="date" 

E. mydate="${date}" 

Correct Answer: A 

 

QUESTION 3

What is the name of the simple graphical login manager that comes with a vanilla X11 installation? (Specify ONLY the
command without any path or parameters.) 

Correct Answer: xdm  

 

QUESTION 4

Which of the following is true about IPv6? 

A. With IPv6, the TCP port numbers of most services have changed. 

B. IPv6 no longer supports broadcast addresses. 

C. IPv4 addresses can be used without any change with IPv6. 
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D. IPv6 no longer supports multicast addresses. 

E. For IPv6, UDP and TCP have been replaced by the Rapid Transmission Protocol RTP. 

Correct Answer: B 

 

QUESTION 5

Which of the following commands connects to the remote host example.com which has OpenSSH listening on TCP port
2222? (Choose TWO correct answers.) 

A. ssh --port 2222 example.com 

B. ssh -p 2222 example.com 

C. ssh -o Port=2222 example.com 

D. ssh -o GatewayPort=2222 example.com 

E. ssh example.com:2222 

Correct Answer: BC 
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